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QUESTION 1

Which of the following values is NOT a valid web script family for dashlet web scripts?
A. user-dashlet

B. site-dashlet

C. alfresco-dashlet

D. dashlet

Correct Answer: C

QUESTION 2

What does it mean when it is said in Solr indexing that the index is "eventually consistent"?
A. The index will only be consistent after a server restart.

B. The index will become consistent when there are no more transactions to index.

C. The index becomes consistent once a day when the index job runs.

D. The index can only be consistent when the Lucene index job eventually runs.

Correct Answer: B

QUESTION 3

Which of the following method-level security definitions, will filter array of members, returned by the method, based on
the access conditions applied to each member?

A. AFTER_ACL_NODE.O.sys:base.ReadProperties
B. AFTER_ACL_NODE.sys:base.ReadProperties
C. AFTER_ACL_LIST.0.sys:base.ReadProperties
D. AFTER_ACL_LIST.sys:base.ReadProperties
Correct Answer: B

Reference: https://docs.alfresco.com/4.2/concepts/secur-methodlevel-define.html

QUESTION 4

When designing a content model in Alfresco Content Services you realize that the content model needs to refer to
definitions that reside in another existing content model. How is the reference established?
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A. Alfresco will automatically be aware of the existing definitions.

B. We need to Import the namespace of the content model within which those definitions are created.

C. The repository does not allow a content model to reference definitions that reside on another content model.
D. We need to merge the two content models into a single content model.

Correct Answer: C

QUESTION 5
Which approaches can be used to define a set of reusable metadata fields? (Choose two.)
A. Define a datalist with the required properties and assign the datalist to each type or aspect through an association.

B. Define a global type which holds the common properties, then define an association from each type requiring the
properties back to the global type.

C. Define and use the same property names in the different types that need those fields.

D. Define a base type which holds the common properties and have all the types that need those fields inherit from the
base type.

E. Create an aspect and apply it as a mandatory aspect to all the types which need the properties.

Correct Answer: DE
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